June 2006 6681 Mechanics M5 Mark Scheme

Question Number	Scheme	Marks
1. (4)	$\overline{I} = \int_{-\infty}^{\infty} \frac{m}{2\pi} x^2 dx$	741
	= = [x]_20	Aj
	= 4 me² *	41 (3)
(3)	Ix = Iy = \$mc2 (shetchigale)	ч,
	$I_{z} = I_{x} + I_{y} = \frac{8}{3} \text{Me}^{2} \left(I^{\text{mexces}} \right)$	MIAI (3)
2.	$d = \begin{pmatrix} \frac{4}{5} \\ -\frac{2}{5} \end{pmatrix} - \begin{pmatrix} \frac{2}{3} \\ -\frac{4}{5} \end{pmatrix} = 2i + 2j - K$	81
	$F.(2i+2j-k) = \frac{1}{2} \times \frac{1}{2} \times 12^{k} = 36$	11/42
	but $E = \lambda (2i + 2j - k)$ (particle startistical)	71(
	=> \(2\frac{2}{4} \frac{2}{3} - \frac{2}{3}	нţ
	⇒ で入 = 36 ⇒ 入 = 4	Al
	$F_2 = 4\left(\frac{2}{7}\right) - \left(\frac{1}{2}\right) = \frac{7i + 6j - 3k}{2}$	h 1 4 1
3.(0)	$m^2-2m = m(m-2) = 0$	nı
	=) m=0 ~ m= 2 =) = A + Be2t	A (
	t=0, s=31 > A+B=31	HIAI
	i = 2Bc2t	nı
	t=o, 产=j ラB=ij	A-1
	$\Rightarrow r = (3i - \frac{1}{2}) + \frac{1}{2}e^{2t} = 3i + \frac{1}{2}e^{2t} - 1$	A1 (8)
(b)	Patide moves in a straight hime	B
	Equation of line in x=3	B1 (2)

Question Number	Scheme	Marks
4. (0)	$R = \begin{pmatrix} 1 \\ 2 \\ 0 \end{pmatrix} + \begin{pmatrix} 0 \\ -1 \\ 1 \end{pmatrix} + \begin{pmatrix} 3 \\ -1 \\ 1 \end{pmatrix} = \begin{pmatrix} 4 \\ 0 \\ 2 \end{pmatrix} = \underbrace{(4) + 2 \times N}_{N}$	MI AIR
(4)	$\left(\frac{1}{5}\right)\times\left(\frac{1}{5}\right)+\left(\frac{1}{1}\right)\times\left(\frac{1}{1}\right)+\left(\frac{1}{2}\right)\times\left(\frac{3}{1}\right)$	ы
	$= \begin{pmatrix} 0 \\ 0 \\ -6 \end{pmatrix} + \begin{pmatrix} 2 \\ -2 \\ -2 \end{pmatrix} + \begin{pmatrix} 1 \\ 5 \\ 2 \end{pmatrix}$	4) A) A
	$= \begin{pmatrix} \frac{3}{3} \\ -6 \end{pmatrix}$	A 1
	$\begin{pmatrix} \frac{5}{3} \\ \frac{5}{3} \end{pmatrix} \times \begin{pmatrix} \frac{5}{6} \\ \frac{5}{4} \end{pmatrix} = \begin{pmatrix} -\frac{7}{3} \\ \frac{3}{3} \end{pmatrix}$	MI
	$\begin{pmatrix} 2y \\ 4z - 2x \\ -4y \end{pmatrix} = \begin{pmatrix} 3 \\ 3 \\ -6 \end{pmatrix}$	AIFE.
	eg. x=-3/2, y=3/2, 2=0	BI
	$\frac{r}{r} = \begin{pmatrix} -3l_2 \\ 3l_2 \end{pmatrix} + \lambda \begin{pmatrix} 2 \\ 0 \\ 1 \end{pmatrix}$	MI A!
F ()		<u> </u>
5.6)	mv = (m+om)(v+ov) + (-om) (++++ov) mv = mv + mov + von - kom - von	HI AS
	kom = mout In the bout, as ot-10,	- 4
	dr = K	A1 (6)
(6)	My dr = y dv	МІ
	Inn-hM = + (V-U)	AI
	In my = i (V-u) my = Me (V-u)	p.1
	m = Melter	A-)
	Amount of fuel = M-m = M(1-e k)	MIAI
		(F)

Δ. Ι΄		T
Austin Nunsur	Schene	Mades
66)	= = = = = = = = = = = = = = = = = = =	MIAI
	h(A), -mgq sid = 3 ma 0	M J A 2 (5)
	$-\frac{29}{30}\sin\theta = 0$	
(b)	$\int_{-2\pi}^{2\pi} \int_{-2\pi}^{2\pi} \int_{$	#1 (C)
(c)	e(F) Y-masia = me 0	HIA2
	= ngs=0 + ma (=== si0)	MI
	= 2 mg sm0 3	AI (S)
7.(~)	u = 120g	81
	P $\sqrt{2as}$ = ω CAM about 0: $\sqrt{2as}$ = $2ma^2\omega + 3ma^2\omega + \frac{1}{2}2ma^2\omega$ P $\sqrt{2as}$ = ω	M(42
a	$\frac{1}{3}\sqrt{\frac{5}{20}} = \omega$	A1 (5)
(5)	Fara: -I = 2maw -mu	MIAI
	$\Rightarrow I = 6man - 2man = 4man$ $= 4ma \sqrt{\frac{3}{3}} = \frac{m}{3} \sqrt{8as}$	A1 (3)
(0)	PEGail - KElossof + KElossof + KElossof + PElossof	
	P P Q P Q P Q	m1 43
	y = 37	MI AI
:	$gd = 3a^2 \cdot \frac{1}{9} \cdot \frac{5}{2a} = \frac{a}{6}$	(6)
		4